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In an examination 80% candidates passed in English and 85% candidates
passed in Mathematics. If 73% candidates passed in both these subjects, then
what per cent of candidates failed in both the subjects?

Mark only one oval.
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Two buses start from a bus terminal with a speed of 20 km/h at interval of 10~ *
minutes. What is the speed of a man coming from the opposite direction towards
the bus terminal if he meets the buses at interval of 8 minutes?

Mark only on-e oval.

(O 5km/hr
) 6km/hr
C O 9km/hr
O 7 km/hr

Which number is wrong in the series 2, 6, 15, 31, 56, 93? *

Mark only one oval.
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Arrange the words given below in a meaningful sequence. *
1. Police

2. Punishment

3. Crime

4. Judge

5. Judgement

Mark only one oval.
(31452
(21453

(35412
(31425
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9. Which of the following is the odd one from the given alternatives? *
Driving '
Diving
Swimming
Sailing
Mark only one oval.

D Driving
(O swimming

() Diving

(D sailing
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